DEC

DEC

DEC

grb0_0
Entries / bin
OiO 0[5 1[0 1[5 2i0
40 — 1 ! [ [ —]
1
1
35 — | —
:
1
1
K R et e W T -
:
25 — | —
:
1
20 — ' —
1
1
1
151 | |
250 255 260 265
RA
grbl O
Entries / bin

| | ! |
50 — ! |
|
-55 [— | —
|
1
60 — ! |
_________________ Rem™m ________
1
65 |— ' |
|
-70 ' —
|
1
75 | | X |
140 160 180
RA
grbl 1
Entries / bin
OEO OTZ Of4 OTG OTS lEO
[ [ [ [
| | :-
1
1
1
-50 — : —
1
|
1
| | 1
.55 |— ! |
1
n , =
n m =
S
n 'm
| | [ |
110 120 130 140

Entries / bin

Entries / bin

Entries / bin

grb0_0

|

WL

10000.0 10000.5 10001.0 10001.5
TIME
grbl 0
I I
3 —
2 — —
1 | —
0 |
1.975234 1.975236 1.975238
TIME x10°
grbl 1
4 — |
3 I — —
2 I —
1 I
0 HH | | H | |H
2.315296 2.315300 2.315304
TIME x10



DEC

DEC

DEC

grb2_0

Entries 7 bin

OiO 0[2 0[4 0[6 0[8 1i0
[ II [ [ [
1 | |
55 |— ! = —
;o=
60 — E = |
BT
= "7 : n
-65 [— ' _
- | |
| | m| | |
160 165 170 175 180
RA
grb3_0
Entries / bin
[T | |
40 — ' —
- .
u " !
50 — = - | —
s " Hmm u
—————— - - -I—-—————————————;
n
-60 — s " - —
- |
20 . _
[ | |
80 100 120 140
RA
grb4 0
Entries / bin
h |
-40 IERCT. |
" I.: - n
50 }— ' . _
= e,
L [ |
n | | [ | --
————————— == -5 B R
60— = -‘t.-l:q J'- —
:. .
= w, -
1 [ |
70 |— I —
| | m
| ) | |
100 120 140 160

Entries / bin

Entries / bin

Entries / bin

grb2_0
I
3 I —
2 I —
1 pu—
0 I
2.6622452.6622502.6622552.6622602.662265
TIME x10
grb3_0
I
5l h |
6 I —
4 \— |
2 I —
. H L T (I

4.25981 4.25982 4.25983 4.259845
TIME x10
grb4 0
I

30 H —

20 H- —

10 H- —

0 o oot [0 o

5.98220 5.98221 5.98222 5.98223

TIME x10



DEC

DEC

DEC

65

60

55

50

45

40

290

-10

-20

-30

220

15

10

grb6_0

Entries 7 bin

0,2 %4 Oﬁ

300 310

RA

grb6_1
Entries / bin

0,5 %O

320

330

225 230 235

RA

grb6_2

Entries / bin

—

240 245

160 170

RA

190

Entries / bin

Entries / bin

Entries / bin

20—

15—

05—

0.0 |

' 7.730038

7.730040
TIME

grb6_1

7.730042

x10°

0

8.400445 8.400450 8.400455 8.400460 8.40046

TIME

grb6_2

x10

0

8.789854 8.789855 8.789856 8.789857

TIME

x10°



DEC

DEC

DEC

-10 '

grb7_0

Entries 7 bin

20 | !
1

1
10 — = om
1

grb7_1

Entries / bin

160

0,0 0,2 0,4 0,6 0,8 1,0

I I

I ] I i
_24 — : —1
1
1
26 — : —
1
1
-28 :____-___!_: _________________ T
:—- = =
30 = = | ]
:I
32 — : —
1
- : -
_34 — 1 —
| { | |
204 206 208 210 212
RA
grb8 0
Entries / bin

60 —

50 —

30 | | |

270 280 290 300
RA

310 320

Entries / bin

Entries / bin

Entries / bin

grb7_0

I
15 — —
10 — —

5 I —
0 | | [ PWI‘I
9.93154 9.93155 9.93156 9.93157
TIME x10
grb7_1
I

20— o —
15— —
1.0 = nll 1
0.5 M —
0.0 | | | |

1.0116490 1.0116495 1.0116500 1.011650
TIME x10
grb8_0

I I

8 - _ —

6 I —

4 — ]

2 - —

0 H | | | H
1.030615 1.030616 1.030617 1.030618

TIME x108



DEC

DEC

DEC

grb8_1

Entries / bin

[ [ ! [ [
5 " —
| | -E-
1
0 = " ™ —
u ! "
[ |
5 |— = = = |
TR
______________ ."‘:;'i‘!""""‘
410 — - E: =
-. =
H-: -
.15 — = —
1
1
u 1
20 | | . | |
320 330 340 350
RA
grb9 0
Entries / bin
%O qS %O HS ZF
| | ' | |
60 |— | —
1
1
|
50 |— \ ]
_________________  RRREE
1
)
1
40 |— ' —
1
1
|
30 — | ]
1
| | ) | |
210 220 230 240
RA
grb10 0
Entries / bin
%O q5 %O %5 ZP
[ [ [ ol [ [
35 |— : |
1
1
|
-40 — I —
I
1
1
L o e _mpmee_ __________
45 [— : |
1
1
I
-50 {— : —
1
| | | il | |

25 30 35 40 45 50
RA

Entries / bin

Entries / bin

Entries / bin

grb8_1

:7 | H|LHH i

1.1507632.1507633.1507634..1507633.1507636

TIME x10
grb9 0
I

2.0 — S —

15— —

10 n = nn an =

0.5 M —

0.0 | | |
1.2694805 1.2694810 1.2694815 1.2694820

TIME x10
grb10 0
I

10 |p —

8 I —

6 I —

4 ]

2 J[Hw —

S ﬂﬂﬂﬂ .|
1.3065836 1.3065840 1.3065844
x106

TIME



DEC

DEC

DEC

grb11 O
Entries / bin
%O q5 %O HS ZP
[ [ [ [ [
1
1
8 — : —
1
1
:
1
12 — ! ]
1
___________________ I___________
1
'
1
-16_ : —
1
1
:
1
20 | | I |
176 178 180 182 184 186
RA
grb12 0
Entries / bin
%O q5 %O HS ZF
| N | |
_56_ : —
1
1
T
:
-60 (— I —
:
_____________
[
64 — : ]
1
1
:
| [ | | |

60 70 80 90 100 110

RA
grb12 1
Entries / bin
[ ! [
45 — ! |
40 |— | —
35 ' —
PR IUY - S
30 — E —
25 |— _|
20 | L |
160 170 180 190

Entries / bin

Entries / bin

Entries / bin

0

1.593796

0

grb11 0

1.5270875 1.5270880 1.5270885
TIME

grb12 0

xlO6

L L

.

1.593797  1.593798
TIME

grb12 1

1.59379
x10

ll

LT

1.646761064676166467620646762b.6467630

TIME

x106



DEC

DEC

DEC

grb13 0

Entries / bin

— e -

[ :I [
30 — ! —
1
1
)
25 — ! 1
(]
____________ = -
20 — ! —
1
1
15 — | ]
|
1
10 |- | —
| il |
320 330 340
RA
grb1l6 0
Entries / bin

I I I .
-40 — : —
1
1
1
|
-50 = "y —
___________________________ [
1
1
1
:
-60 — —
1
1
1
|
1
70 | | | L
0 100 200 300
RA
grbl7 0
Entries / bin

0,0 0,2 %4 %6 %8 1,0

| 1 | -
1
48 — : 1
|
1
| 1
1
52 — I —
. |
] : n
_____________ e g
- — - ' —
56 '\ m" m
1 [} |
= ' =
| 1
1
60 L_L | Lo | |
25 30 35 40 45

Entries / bin

Entries / bin

Entries / bin

12

0

grb13 0

| | IHIIHII MI”III

1.707037.G0703780703BF0703B30703PF070395
TIME x10
grb1l6 0

0

2.18247262.18247282.18247302.18247322.1824734
TIME x10
grbl7 0

2.2173010 2.2173015 2.2173020 2.217302
TIME x10



DEC

DEC

DEC

grb18 0

Entries / bin

T S S

[ [ ] [ [
1
1
|
1
10 — ! —
1
1
1
I
________________ e e e e e e e — -
-20 |— E —
1
1
1
I
|
1
-30 | L | |
115 120 125 130 135 140
RA
grb19 0
Entries / bin

grb19 1
Entries / bin
0,0 0,2 0,4 0,6 0,8 1.0

I I

—

I [ I
-35 — 1 ]
|
1
1
|
-40 — . —
u |
______________ !_____:_i._______
= .
| u
45 — ! —
1
. u :
1
= |
50 I [ I
40 50 60 70

Entries / bin

Entries / bin

Entries / bin

grb18 0

I 1 o 1

2.3510830 2.3510835 2.3510840

TIME x10
grb19 0
|
15— . —
10 — —
5 I —
0 | 10 Jﬂ |

2.5654440 2.5654445  2.5654450 2.5654455

TIME x10
grb19 1
I

20— o —
15— —
1.0 1 n SRR a —
05— —
0.0 | |
2.56733522.567336(Q.56733652.56733702.567337

TIME x10



